Subject: Re: Key in DropList cannot be same
Posted by mirek on Wed, 20 Feb 2008 13:45:21 GMT

View Forum Message <> Reply to Message

bonami wrote on Tue, 19 February 2008 21:22simplified
do not spend so long time figuring it out, just ask me to clarify next time. i've already been grateful.

First

GetKey(l.GetIindex())

is (almost) the same as

~|

(but AFAIK, I.GetIndex can return -1, which will crash here).

Second, | start to realize the problem. Yes, "Getindex" in fact searches for the first key that is
equal. Solution is simple - do not put equal keys into DropList

You can solve your problem by adding separate mapping array (keys are then indicies to this
array).

Mirek
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